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MANAGEMENT

PAPER-III

Note :This paper contains Seventy Five (78) multiple-choice/Assertion and
Reasoning/matching questions carrying TWO (2) marks. Attempt All the

questions.

1 v sissiarserseneareerne. DPANAS &re positioned with respect to competitor’s brands
so that move importaht flagship brands can retain their desired positioning.

(A) Challenger (B) Flanker
(C) Premium (D) New Arrivals

2. Factors which have contributed to the slow progress of arbitration have been

identified by the National Commission on Labors as :

(A) Absence of a simplified procedure to be followed in voluntary

arbitration

(B) Absence of recognized unions which could bind workers to common

agreements

(C) The fact that law on appeal was competent against an arbitrator’s

award

(D) All of the above

3. Which leverage is getting affected when a firm shifts its mode of production

from manual to automation ?
(A) Financial leverage (B) Operating leverage

(C) Combined leverage (D) None of these
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4. Difference between the target market’s expected service and management’s

perception of the target market’s expected service is known as :
(A) | The Standérds Gap

(B) The .Communicatio-n _(;"rap

(C) The Delivery Gap

(D) The Knowledge Gap

b. The cost of a piece of land currently available on the same premises of the

existing firm should be considered as a part of a new project cost for the

reason of :
(A) Sunk cost (B) Opportunity cost
(C) Incremental cost (D) All of these
6. The totgl demand for many business goods and services is not much affected
by price changes. Thus, this demand is teasera st i demand.
(A) Derived | (B) Elastic
(C) Inelastic (D) Fluctuating
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7. The first step in the strategic brand mana.gement process is :
(A) Measuring consumer br%md loyalty
(B) Identifying and establishing brand positioning
(C) Planning and implementing brand marketing
D) Measuri;'lg and interpreting brand performance

8. Cost of debt capital is cheaper to cost of equity capital because :
(A) Interest on debt provides tax shield
(B) Debt is time bound and often securitised

(C) Debt has prior claims in the event of liquidation of the business to

equity
(D) All of the above
9. Which is the barrier of communication ?
(A) Filtering
(B) Psychol;)gical Distance
(C) The pressure of time

(D) All of the above
Management-I1I 8 [P.T.O.]
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10 e is the Act of providing authority, knowledge and resources

to individuals so they can achieve work objectives.
(A) Employee encouragement
(B) Empowerment
(C) Decentralisation
(D) Delegation of authority

11. ‘Beta’ in the cgpital asset pricing model context is :
(A) The -syétematic risk of the asset

(B) The variability of the asset’s return in relation to the return on the

market

(C) The measure. of unavoidable risk

(D) All of the above

12, e are the end points of management action.
(A) Objectives (B) Aims
(C) Goals (D) Targets
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13.  Acid test ratio is a financial ratio which efaluates ﬁhe firm’s.
(A) ability to generate profits
(B) ability to make liquid payments as and when required
(C) ability to rotate the assets
(D) none of the above
14.  Sensitivity training is known as ..., .
(A) T Group Training
(B) Operative Training
(C) Problem Solving Training
(D) In Basket Exercise
15. White knight in the context of take-over market is :

(A) A more acceptable merger partner sought out by the target of a hostile

bidder
(B) A partner is hostile take-over to help the hostile bidder

(C) A strategic partner of the.hostile bidder to help him to get the target

firm easily

(D) Al of the above

Management-III 7 | [P.T.O.]



16. Focusing on core competencies means companies have the possibility of

generating ?

(A) Human Capital Advantage
(B) Large Profit Margins

(C) Better Output

(D) New Staff

17. Junk Bond is a financial instrument used to raise financial resources

which is :

(A) High yield bonds

(B) Below Investment grade
(C) Rated as speculative

(D) All of the above

18. A statement of values and principles that explains why an organization does

what it does ?

(A) Enterprise strategy

(B) Operational strategy
(C) Functional strategy

(D} Tactical strategy

- Management-III 8



19.

20.

21.

The Adjusted Present Value (APV) method of capital budgeting which is an

extension 6f .
(A) IRR - (B) NPV

(C) Benefit Cost Ratio (D) Profitability Index

_ Which is the task of advertising ?
(A) Providing information about the product

"(B) Image building

(C) Behaviour Reinforcement
(D) All of the above

Top management is interested in how human resource management is

contributing to :

(A) Value of organization

- (B) Training of employees

(C) Profit making

(D) None of the above -
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22.  Black and Mouton developed a diagram to measure a manager's relative concern

for :
(A) Employee and empowerment
(B) People and production
(C} Manager and competence
(D) Leader and influence
23. Which of the following is not an example of a discrete random variable ?
(A) The number of days it rains in a month in New Delhi
(B) The number of stocks a person owns
(C) The number of persons allergic to penicillin
(D) The time spent by a doctor with a patient

24.  The following factor would be relatively low if supply of labour is higher than

demand :
(A) Production (B) Labour cost
(C) Wage (D) "All of these

Management-III 10



25.

26.

27.

28.

Fitting togather of diverse element is :

(A) Systematic (B) Synectics
(C) Congruence (D) Adaptibility
Alex Faickney Osborn wrote a book named as ............. e :

(A). Creative Problem Solving
(B) Applied Imagination

(8] Bouﬁded Rationality

(D) Defer Judgement

If the price level rose in three consecutive years from 100 to 120 to 140, then

the annual inflation rate over those years would :

- (A) Increase (B) Remain the same |

(C) Decrease (D) Equal 20%

The linear function of the variables which is to be maximized or minimized

iscalled the .....icoovceveiriiriiieiiersnresrnniann .
(A) Constraint "~ (B) Objecitve function
(C) Solution (D) None of these

Management-III | 11 ' [P.T.0.]



| 29.. ~VRIO framework stands for :
.(A) (1) Variable (2) Resources (3} In_terest. (4) Opportunity
(Bj (1) Variablgl‘ (2) .Rare | (3) .I.n.imitable (45 drganized‘for usage
(C) (1) Variety (.2). Returns (3) Income (4) bbstacl'es
| (D) . (1) Valance (2)  .Resisi.:ence (3) Inertia  (4) Organization

30. An increase in fhe interest rate should ........covvervrivinieerecrnnnnn. the demand for

money and the value of money and net export should e .
-(A)I Incree_e,- 'Decrease_ | _ (B) Decl_'eaee, Increase
(C) Increase, Decrease : - (D) In.creese, Decrease
'. 31. In regression apalfsis', outlier' may be identified by examieing the :
@ B2
(B) VIF
(C) Coefficient of corfelation

(D) Residuals

Management-III 12



32. The.strategic manégement process is the way in which strategists determine

objectives and :

(A)

(B)

(&)

D)

Make recording

Make coordinating

Make sti'ategic decisions

Make planning

' 33.  An industrial estate whose production is normally intended for exports is

called :

A) EOU . (B) SEZ
FTZ | D) EPZ

(0

34. Which one of the following methods has the greatest bias towards, short-term

project ?

(A)

(B)

)

D)

Net Present Value
Internal Rate of Return-

Profitability Index

- Payback

Management-III 13 - [P.T.0]



35. Which statement is true ?
(A} A budget is a statement of expected results 9xpressed in numeric terms
(B) Budgets may be variable. budgets and flexible budgets
(C) .Budgetary planning is accurate, detailed and cleér
(D) All of the above

36. | Which one .o.f the following is an International Credit Rating Agency ?
(A) CRISIL ~ (® FITCH
(C) ICRA | (D) CARE

37.  If the total investment in stock is limited, then the best order quantity for

each item will be :

(A) Equal to the EOQ

(B) Greater than_the EOQ
(C) Less than the EOQ

(D) Either greater or less than the EOQ

Management-IIT 14



38. The famous book “Strategy and Structure” is written by :
(A) Michael Porter ' (B) Alfred Chandler
(C) Robert Kaplan (D) Sam Walton

39. McDonald’s KFC and subWay are exaniples of which of the following

entry modes ?
(A) International Licencing
(B) International Frenchising
(C). International Leasing
(D) Turnkey projects
40. The actual achipvements compared with objectives of the job is :
(A) dJob performance
(B) Job evaluation
{C) Job description

(D) N'one of the above

Management-111 15 | [P.T.0.]



41. The comparative éost ..theor_.y_ of i:nternationé.l ‘trade was developed by :
(A) David Ricard (B) Haberiar
(C) Adam Smitﬁ - (D) Alfred Marshall
42, | Approaches to orgahizational change includes :
(A) Protecting employee interests
(B) Encouraging teaﬁ Work
(C) Employee pari:icipati_on in decision-making related to the chén.ges
(D) All of .the above
43. For t-test the assumption is :
(A) Parent ﬁopﬁlation is normal in nature
(B) Sample is not random in nature
(C) Population standalrd deviation is given
(D) Both the populétion have sample variance
44. A letter of credits means : |
(A) A bank agreeing to accept and pay on d_ﬁé date
(B) A letter containing conditions of credit purchase or sale
©) A letter sent by exporter to importer sar_lcti'oriing credit deal

(D) A letter sent by importer to exporter sanctioning credit deal

Management-I11I 16



45.

46.

47.

‘Which of the following is the main assumption of Walter valuation model

in the context of dividend theory ?.

(A). All financing is done through fetainéd -earnings. and external sources

of funds
(B) With addit-ional investment, ihe firm’s busines:s risk will éhange
(C) There is a change in the key variables such as EPS and DPS
D) Non.e of the above
The gains from two naﬁops depends én :
(A) Domestic barter ratés
(B) Diffe;‘e‘nce in the domestic bafter i'.ates of the two couritrieS |

(C) Terms of trade

(D) Degree of abs';olute advantage

When a company lengthens its product line beyond its current range it is

KDOWIL 85 -..oovvvvsssiriinecrssossssnionss -
(A) Line Extension - (B) Up market stretch
(C) Line lengthening | ' | (D) Line stretching

Management-IIT ) o 17



48. The most fi_sky but highly rewarding working capital policy is

represented by' :

(A) low level of investments in current assets, financed largely from long-

term sources of finance

(B) high level of investments in current assets, financed largely from long-

term sources of finance

(C) low level of investments in current assets, financed largely from short-

term source of finance
(D) none of the above

49.  Which of these approaches argues that there is no single best way to manage

behaviour ?
| (A) Hawthrene
.(B) Scientific Management |
(C) The cornerstone skill
(D) Contingency

50.  The number of different persons or households exposed to a particular media

--------------

schedule at least once during a specified time period is known as
(A) Frequency _ (B) Reach

(C) Exposures ' (D) Impact
Management-III .18 |



51. In an efficient market, the intrinsic value of a security and the market value

of the security will be :
(A) Same
(B) Different
(C) No relationship between these two values
(D) None of the above
52. Waiter and Gordon models support :
(A) Dividend as a relevant variable in value creation
(B) Dividend is an irrelevant variable in value creation
(C) M & M hypothesis of dividend irrelevance
(D) None of the above

53. Non-parametric counterpart of the t-test to compare the means of two

independent population is the .................. eaeeeeeenrarnren .
(A) . Chi-square test of independence

| (B) Mann-Whitney U te;t

(C) Wilcoxon test

(D) Friedman test

Management-III | | 19 ~ [P.T.0)



.54. The .purpose of estimating cost of capital is :

(A} to use as a discount factor in capital budgeting

(B) to structure the .capital of a firm

(C) to evaluate the performance of the firm

(D) " All of the above
55. Intelligence quoti.ent can be calculated as :

~(A) Mental .Age/Actual Age x 160

(Bj Actual Age/100 x Men_tal Age

(C) 100/Actual Age x Mental Age

.(D_) Actual Age/Stan_dard Age x 100
' 56. Customers are showing g;'eater price. .sensitivity in their segrch for ........... .
(A) Right Conduct
(B) Relgtionship_s
(C) Value

(D) Right Service

Management-III _ 20



57. The Ethical issues concerning the employees in human resources management

.~ arises from :
(A) Remuneration criteria and discrithination
(B) Nature of employment contract offered to employees

(C) Nature of work conditions and environment with respect to employee

safety and health care
(D) All of the above

58. A person’s pattern of living in the world as expressed in activities, interests

and opinions is his’er ...............
(A) Attitude o (B) Personality
(C) Self Concept (D) Life Si;yle
59. As per Robbins, the scope of ofganisational behaviour consists :
(A) Learning
(B) Motivation
(C) Leadership behévio;xr and power

D) All of the above
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60. The behavioural strategies people use to affect how others see them and how

they think about themselves is known as -

(A) Self concept

(B) Self presentation

(C) Social perception

(D) Self awareness
6L s veenes is derived from core comi)étencies of the organizai;ion.

| (A) Cost leadersh.i_p

(B) Strategic advé.ntage

(C) Competitive advantage

(D) Comparative advantage

B2. s system is basically one of private enterprise in which
decisions about what and how much to produce are left to discretion of owners

and manage;'s.

(A) Political System

(B) Capitalistic Economic System
(C) Economic Systém

(D} Legal System
Management-III - 22



63. The process of change in individual and shared thought and action, which
is affected by and embedded in the institutions of the org'anization is known

as .l ........ ........................ e

(A) learning organization

(B) organizaticmal learning

(C) organizational trahsformation
(D) organizational .competence

64. The corporate level management help each strategic business unit to

define its :

(A) Goal of Nature
(B). Goal of production
(C) Gﬁa} of firm

(D) Sqope of operation

65. Rise in general price level along with declining output in the economy is

called :
(A) Inflation : (B) Deflation
(C) Stagflation - (D) Demand pull inflation

Management-III 23 | [P.T.0.]



66.  An electric power company uses block pricing for electricity sales. Block pricing

is an example of :

(A) First-degree price discrimination

(B) Second-degree price discrimination

() Third-d}agree price discrimination

(D) Block pricing is not a type of price discrimination

67, e is characterized by informality, working in groups and

open communication.

(A) Mechanistic System

(B) Informal System

(C) Organic System

(D) Cohesive System

| 68. Any businesg organisation can exist as long as it enjoys .......c..ccoovvrvruenn.n..

(A) Profit (B} Customer support

(C) Societal sanctions ' (D) Societal support
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69.

70.

71.

Factors which have contributed to the slow progress of arbitration have been

identified by the National Commission on labour as :

(A)

(B)

(&)

D)
The
(A)
(C)

The

(A)

(B)

(&)

(D)

Absence of a 'simplified procedure to be followed in voluntary

arbitration

Absence of recognised unions which could bind workers to common

agreements

The fact that in law an appeal was competent against an arbitrator’s

award

All of the above-

Headquﬁrter of World Trade Organisatioq (WTO) is located at :
Madrid (B) Geneva

Paris (D) Munich

null hypothesis for a one sample run test is .........ccccovrvneenn. .
The observations in the sample are ra..ndomly. generated

The observationé in the sample are not related

The observations are statistically independent

The observations are systematically linked

Management-III 25 - [PTO]



72.  The amount of Gold, reserve currencies and special drawing rights available

for the finance of internationé.l trade is know.n. as :
(A) International liquidity_
(B) International monetary fund
(C) Special drawing rigilt
(D) ﬁéne of the above
73.  The following system is simple, less expensive and less time consuming.
(A) Paired comparisqn'
(B) Conﬁdential report syétem
(C) Ranking

‘D) All of the above
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74. Parameter and estimate respectively are characteristics of which one ?

@)

(B)

(C)

)

Population and Sample

Sample and Population

-Sample and Sample

Poplilation and Population

75.  You are offered an investment opportunity. Its outcome and probabilities are

presented in the following table :

x px)
- Rs. 1,000 0.40
ﬁs. 0 0.20
+ Rs. 1,000 040
The mean Iof this distribution is .. ................................... .
(A) "-Rs. 4,000 (B) Rs 0
(C) Rs. 200

Management-I1I
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